#65124 Chemistry, General Chemistry

If the results of 100 observations which had a standard deviation of 0.5 were gathered randomly into
groups of 10 and the mean of each group recorded, what would you expect to be the value of the

standard deviation of the group of means thus produced?

Answer:

Formula for calculating standard deviation:
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Due to this formula, if samples with standard deviation of 0.5 were gathered randomly into groups of 10
and the mean of each group recorded, the value of the standard deviation of the group of means thus
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produced will be greater in 3 times (0.5-3 = 0.15).



